
CASE STUDY 

Read the following unseen passage and choose the correct answers. 

Bears are found in Europe, Asia, Africa, and America. They are massively built, with short tails 

and thick legs. Bears are not really carnivores. They eat almost anything, the chief exception in 

the polar bear, which in its natural state lives on fish and seals. However, in captivity, they seem 

to enjoy meat, vegetables, fruits, milk, rice, and porridge. 

Bears are not quite as dangerous as people imagine them it is like most animals; they will do 

their best to avoid human beings. They have a special sense that is eyesight to see things. 

I. We couldn’t find a bear in 

A. America 

B. Africa 

C. Arctica 

D. Asia 

II. The meaning of carnivorous is 

A. feeding on other animals 

B. an animal that feeds on plants 

C. an animal that feeds on both meat and plants 

D. an animal lives in water 

III. What does a bear avoid like most animals? 

A. Hunters 

B. Human beings 

C. Fish 

D. None of the above 

IV Chose the antonym of ‘freedom’ from the given options 

A. independent 

B. Weak 

C. captivity 

D. None 

V. the strongest sense organ of a bear is 

A. Touch 

B. Sight 



C. Smell 

D. Hearing 

 


